OWing places
It was halg

(B) Visakh 2patnam
(€) Mumbaj

(D) None of these

of the fc::rluwing I not

ahcu’_:-the Cropping Seasons
(A} The Khari Season sp
~June till September.

(B} The Rabi season spreads from

‘October till March.

HEY The Wheat crop
. Northern Indis 4

_ Season.

(D) The Zaid season

B Aptil il une.

Madh Eaﬂ, paiﬂﬂng is famous in

Which of the foliowing state?

(2 " Pradesh (B) Kerala

‘ (P) Rajasthan

true
in India?
reads from

s cultivated in
uring the Kharif

spreads from
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If selling price is doubled, the profit

) 300%

ﬂMM, EOQ, GQQ,
Fill in the blanks. ¢
(A) GRR
(C) Iss

— KUy,

(B) Gss
(O} T

Which word does not belong with
the others ?

(A) Branch
(C) Leaf

(B} Dirt
(D) Root

Sponge is to poraus as rubber is to >
[A) Massive (B) Solid

{C) Elastic (D) Inflexible

Five children are sitting in a row. S is
Sitting next to P but not T. K is sitting
next to R who is. sitting on the
extreme left and T is not sitting next
to K. Who are sitting adjacent to S ?
(A) KandP 1B) Riand P

{c] Only P (D) PandT

tri_pl!sc Find the profit percent.
(B) 100%
(D) 120%

t team eleven, the averaEE

even ﬂ{alymis 28 years. Out
o Arapge .'.HE#__ ;j{ thrgg

10.

11.

12.

et

CMM, E0D, Gaa, . KUY
EDs o e uf

(A} GRR (B) G35

(C) 185 (D) 17T

I T e aran 3 A S B
G BT B B 0 0 S O B B

(A) = (B)

‘:T_.:l '-l'i"]-'l (B} x5 0]

By for weEe W) foe @ dafia & 91
2 Pl B e 1 o

{A) W& (B) <IH

(C) wearey (D) @

G 773 0 ffag A AD E ISFEP

TG do1 & v T H A Ik G B RS 9
Jor ol fh A SR O deT E AN T, K
a7 TH daTE 18 F Prreasi B & 7

(A) kafwe (B) Rahep

(C) &aa p (D) PafRT

afe W81 et ) T e A S, 4
GIR S G o A | B oo e
BIFAT |
(A) 300%
(C) 316%

(B} 100%
(D} 120%

st B 119, e e
?ﬁlmaﬁzaﬁ% | Bl /e
ReRa & i wieh a0 sk o) st
2534, 2890 T 3076 ¥ | e
memmﬁsmﬁ




13, . 368
Reduce . tothe lowest terms
| .'“1.

30

(A) = 28

25 (8) =

{C) Eﬁ 16

25 S
r L
14, E\.h'-'JlLIEItel._!_‘I
L 64 )

KAy, 4= (B) 4

{C) 2 (D) 2

15. ia cistern can be filled by a tap in
: hcrurs while it emptied by another
90 ' 9 hours, If both the taps are
:PEHEd ;nmultanenusl?. then after
OW much time cistern will get filled ?
(A) 7 hours
(B) 7.3 hours
(€) 7.2 hours
(D) Nene of these
16. Which amongst the following is
T I,Iﬂg‘ges_t -endocrine gland in the
~ (A) Thyroid
(€) Adrenal

(B) Parathyroid
[ﬁ} Pituitary

13.

14.

15,

16.

1M wil 10l SR ;
8715 HIII =
30 g 2
(A e 29
: . Ae
28 (D) e
(C) 7
a7t Bl 53
- () 4
:::?3} 3 * (D) 2
; ¥ o e

Gyl =t 8 BV 9 M

&y el F1 A 5

'-'.:-'--l HGIGEIEE:
| THE

o s
] 8, D S,
FrgEe e Bl NS
1 L LR
s T ST 2

(A) 78

(8) 7.3 He

(c) 7.2%%2

(D) &7 % @i e ..

o 3 Fraw st el G e g
HAWE?

(A) ¢ (HIFHIRS)

(B) WRITE (RIAIEVIES)

(€) B (1<)

(D) Wy (Mege

ST W) I el & oy ww o

il g A e s 2 1 F o
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22.
]
]
23.

Whi .
ch ancient city of Haryana was
known as ‘c

Aarpadaman’ ?
{A) Sonipat

(B) Sohng

(C) Sirsy

(D) Safiden

Al which place (in Haryana) Liberty
Shoes are manufactured 7

{A) Ambala

(B} Panipat

{C}] Dharuhers

(D) Karnal

Which city of Haryana is well-known
as city of weavers ?

(A) Faridabad

(B) Panipat

1€) Karnal

(D) Sonipat

nembers are nominated
o Haryana 7

1.

22,

23,

24,

25.

e

e, ebearn ¥ e
oqrH 87
() TN

‘H] ."ﬂf'f"”
() paeLill

(D) wPIE

B e 1o o [o
seframomy 9 ferde] S

{,n,‘, e

(B) ST

(C) MR

(D) T

R @1 W R gAY B IER D
wqro @ & 7

(A) RIS

(B) e

(C) a=Tet

(D) W

won @ e o d e wEw
A B £2

(A) 2 (B) 4

{€) & (D) 7

g A o) i i A uEd
SN &2

() #iief e

(B) ¥ ) e
(C) weTTeh )t e
(D) ared) 9 werd
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() 0.P. Dhankar
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B) Banwari 4 (c) 2

(D) a=and e

: f HS '-erent Managing 28. HSHDC % adm wam Freeis a1 & 7
¢ ' (A) ey TroTTE

(B) fwawm

(C) Herre we

(D) = 9 &g e

is 29. gl # W SV 1w R
> TRAZ?
(A) il (B) o
(C) Srme (D) Wy -
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Boundary of which district of
Haryana do not touch any other
State of India 7

(A) Rohtak

(B) Rewari

(€} Bhiwani

(D) Yamunanagar

Who is known as ‘Iron Man' of
Haryana ?

(A} Sardar Vallabh Bhai Patel

(B} Devilal

(€) BansiLal

(0) None of these
E.q""ii-'_:-'- 'lll: I. l .':l'" w-l ohri mis- fﬂ_ﬂ'“ﬂ_dl_at last ?

W ]

34.

35.

(D) WAFPR

. gy A T8 GET @ AT i 1 AT

S &7

(A) TEER Jee T To
(B} @dlee
(€)=

(D) T BT G Edl

ey ) o s i A 412
(A) Fard
(B) wETH

(C) wag
(D) e

oo e Aeen wfer B oo o
e &7



39. What is the full-form of KMP ?
(A) Kurukshetra-Manesar-Panipat
(B) Kurukshetra-Mahendragarh-
Panipat
(€) Kundli-Manesar-Palwal
(B) Kundli-Manesar-Pataudi

40, Rio Olympics bronze medalist Shakshi
Malik born on
(A) 2 September, 1992
(B} 4 August, 1990
(€} 5 March, 1992
" (D) 6Pecember, 1991

41. Who guided Chandragupta Maurya to
become the ruler of Magadh ?
i (A) Kautilya (B} Dhanananda
~ (€) Banabhatt (D) Porus

ﬂ. Which' book did Greek ambassador
Megasthenes write 7
(A) The Republic

®

39. . f
(Al ' ! I
\B) e
(C)
() =

a0. fray avefos

':'.-"'-] =, 1k ]
(B) 45, 1990
(C) 5me, 1992

(D) 6f2 199

a1, [0 T AT s W O O AT

& fery drefest fa
{,Jfl,j BllCT |:'|'f.] 1 !
(C} amrags (D) .

42, ‘-‘“-F. ] -'.’._I'._i HITFET= Tl = AR
fered) 7
(A) fafgfim |
(Bf 1 omse 3N shsm .
(C) EfEw )
(D) Basvde g efaa

43, WA &7 ¥ B T a g gan

7
(A)
(B)

(€ #argm
(D) M
44, Prifefees ¥ @ fr whr % fore frar
- (e aen e e # 2
G (8) wrumn
f€) arse (D) e

R ST e




I 46. What is the Minimum age required
for a person 1o become the prime
Minister of India »
N {Al 21 yoars (B) 25 vears
L_ {€) 30 years (D) 38 vears
47, Which Five-Yoar Plan had
i ‘Removal of Pavert
~ objective ?
() Second

: (B) Third
(€} Fourth (D) Sixth
.'..':;f:ii J_q!'t f ; |

8 whose rule was the rupee
irst minted in India ?

adopted
¥ as its foremost

d?f

49.

) mﬁrﬂiﬂﬂm ST TETEY A i
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g s v g 2 Jus
(A) 21 (8) Hﬂ A
(c) oot (0) a5
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54. When was

h"ﬂll.ﬂ‘"-”.

Landhi
MASRASSINnated
(A) Yanuary 30, 1948
(B) Ranuary 20 1949
{C) Novemibe 0, 1944
(0} October 3 1950
35. In  which YRAr was the United
Nations formed 4
{A) 1920 (B) 1939
(C) 1945 (D) 1857
56, In which yepr did the French

Revolution take place 7
(Al 1773 (B) 1783
(€) 1789 (D) 1784

What are the imaginary lines parallel
to the equator called ?

(A) Latitudes (B) Longitudes
(C) tsobars (D} 1sotherms

' , Kangaroo is the National emblen of

y?
] (D) Australia

54,

35,

56.

57,

59,
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(D] HEaEYZ, ¥

foy sy AW iET 1Y
(g} 1629
(D) 16862

g e i 1
(A) 1820
(C) 1@46
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1783
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63. Who was the first Indian to score a
century In test cricket ?
(A} Lala Amarnath
(B) Vijay Hazare
(€) Vijay Merchant
(D) CK. Nayudu

64 Who started the ancient Olympic
Games ¢
{A} the Romans (B) the Greeks
(€) the Egyptians. (D) the Turks

65,  Of which country is Baku the capital ?
" (A} Ukraine (B) Kazakhstan
(C) Azerbaijan (D) None of these

66. The Kargil Vijay Diwas is observed

 everyyearon
(A) 23uly (B) 24 July
(D) 26 July

Indiz *‘f@i-gﬁﬂgﬁ_rgund museum will

63,

R,

65.

66.

67.
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NC). 7 (B) 4
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72,

Sltrt.mf 1A row in front of 4 Camerg
51'lt'rng :: ::;1 1“14:' left of the mut.m;
Asht L .:1": :::-ntm.- but s on the
aeh andlr'-.-]' Mr. Pison the right of
g i Hr" .H IS on the right of
L t‘h ! i5 thg second person

2 person SILNg in the center.

Who is th :
& perso - ;
center 7 REISoN sitting in. the

(A) Mr. x

[’C] Mr. 2 (B) Mr. ¥

(D] Mr. R

Eh_t;-nse the correct alternative.
Pam_:ﬂg:‘i}ug:;Mms'e:?

{A}_ Bgch (B} Donkey
{E]. Fow! (D) Deer

In the following four words, three are
alike in some manner and the fourth
one is different. Choose out the odd
one.

11

3.
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75.
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&
I
. 7. One of the two buses completes
journey of 300 km In 15/2 hrs .1|1|1
the other a journey of 450 km in 10
s, Find the ratio of thelr average

cpeeds
[A; 4 s {H-]' Q8
(c) 8:9 (D) 5:4

78. The HCF of two numbers 15 23 and
other two tactors of their LCM are 13
and 14. The larger of the two
numbers is
(A) 276 (B8] 299
¢y 322 (D) 345

79, Three times the first. of the three
consecutive odd integers is -3 more
than twice the third. The third

integer is
A) 9 (B) 11
lC:l A5 (B) 15

uf a ratn;:-nal aumber and its
. Find the number.

;" 7 (8) 3/2

| 42 (D) 5/2

el is associated with the

(B} Dynamite
.Eﬂ}- Penicillin

) -','m;a{.{:; or railway

p el A A EE W 300 faft oy Al

T
v /o Vi g el W ven G a7t 480,
Pyl ) QT 10 ¥R A @ x|y
faye) T T SELHTE AT Tl il
(A} 4:5 (B) 9:8
(cy 849 (D) 534
78. ol Bl 63 y gl FI
| i.-'ilh-:l L] 'Jl "‘"F.,.':rq
I.' ey R | ,-'-'_..'I
(A) 276 (B] 299
(C) 322 (D) 245
79, o @HE AT Uit 7 A
qead o1 a e, S @ e ™
4 arfeE &, € SR YU T IR
(A) 9 (B) 11
() 13 (D) 15
80, Ua URH T A S e P ar
1a/e R | gude B
(A} 2 {B) 3/2
(C) 4/2 (D) 5/2
51, o AG ) A e snfasER 487
(A) piers e (B) ST
(C) STy (D) af r,:{*;
g2, ¥ ol id wiue Oy w6 U 3
gt o < ferg famn S & 7
(A) sfip=faa  (B) Sl
(€) amd=h = (D) o am
83, SNmEEAEITH  WIE|
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(C), SRS (D) &
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86,

87.

! B'Eq-

NGLISH LANGUAGE

Find the correctly spe
(A) Octope
(8)
(C)
(D)

tward -
nNerarian
CET‘I[E[h’-‘Iri.:_!n

Propreitor

dMatuyer

Fill in the bian

ank
Prepositions g
Suddenly she turned away

the window =
dan
Bl d stood

(&) from: ta
(€) off; near

dppropriate

the

(B) from; before
(D) with: to

Choose the word th
] at best expresses
::th? mﬁanmg of the underlined word -
I5 the first time the paintin

| g has
been flzlmgia:ged te the public,
(&) gwetn {B) distributed
(C) exhibited (D) refused

5?‘_‘9':1 the substitution that best
Expresses opposite meaning of the
‘underlined word :

‘A conceited person is seldom liked.
{A) poor (B} lonely

{€) humble (D) ‘scholarly

(Choose an alternative which can replace
i ven words or sentence so as to

83.
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